Express as an ordered triplet the mean, mode, and median of the following data set:�	4, 18, 27, 12, 7, 6, 14, 20, 12, 72, 17��(A)  (14, 19, 12)	(B)  (19, 12, 14)	(C)  (12, 14, 19)	(D)  (19, 14, 12)	(E)  NOTA


A card is drawn from a deck.  What is the probability that it is a nine or a club?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


My science fiction collection consists of 7 books by Larry Niven, 2 by Orson Scott Card, and 1 by Carl Sagan.  If I wish to keep books by the same author together, in how many ways can I arrange the books upon a shelf?��(A) 10080	(B)  362880	(C)  60480	(D)  3628800	(E)  NOTA


If each person shakes hands exactly once with each other person in a group of 23, how many handshakes will transpire?��(A)  119	(B)  276	(C)  253	(D)  506	(E)  NOTA


Two coins are drawn from a bag which contains 5 quarters, 7 dimes, and 4 nickels.  What is the probability that you get no nickels?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


A sack contains 9 cats:  6 black and 3 white.  Let A be the probability that when you choose two cats at random you get one of each color.  Let B be the probability that when you choose two cats one at a time, without replacement, you get one of each color. What is the value of A - B?��(A)  � EMBED Equation.2  ���	(B)  0	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


A student guesses at each of 17 true/false questions.  What is the probability he gets at least 9 correct?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)   � EMBED Equation.2  ���	(E)  NOTA


In a horse race, the odds are 13:1 against ‘Smiling Doug’ placing.  In another horse race, the odds are 7:1 against ‘Kev’ placing.  What is the probability that neither horse places?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Sean has a 7 problem homework assignment on which he has the wrong answer for two of the problems.  Sean’s teacher is lazy, and only grades three of the problems.  What is the probability that the teacher will grade both of the problems with wrong answers?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


���������������������


If you must always head either down or right along the gridlines, in how many ways can you get from point A to point B?�(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Two urns contain marbles.  Urn A holds 7 black marbles and 5 white marbles.  Urn B contains 8 black marbles and 3 white marbles.  A marble is chosen at random from Urn A and placed in Urn B.  What is the probability that a marble then chosen from Urn B is black?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)   � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


In how many ways can 3 students seat themselves in a row of 6 desks?��(A)  240	(B)  480	(C)  720	(D)  120	(E)  NOTA


A coin is flipped five times.  What is the probability that it comes up heads at least 2 times in a row?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


The probability of event A is � EMBED Equation.2  ���.  The probability of event B, given that event A occurs, is � EMBED Equation.2  ���.  The probability of event A, given that event B occurs, is � EMBED Equation.2  ���.  What is the probability that neither event occurs?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Find the variance of the following data set:�	2, 7, 13, 12, 7, 14, 8��(A)  16	(B)  4	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the coefficient of the third term when � EMBED Equation.2  ��� is expanded in decreasing powers of x?��(A)  4	(B) 8	(C)  16	(D)  32	(E)  NOTA


Three dice are rolled. What is the probability that at least one of them shows a 2?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Consider the data set:  12, 6, 7, 12, 9, x, y, where x equals the mean of the data set and y is the median of the data set.  What is the maximum sum of x and y?��(A)  18	(B)  17	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


A test is given to nine students in which their scores are integers between 0 and 100, inclusive.  What is the greatest possible range of the test scores if the mean of the scores is 75 and the median is 80?��(A)  90	(B)  70	(C)  100	(D)  80	(E)  NOTA


Two distinct numbers are chosen from the first nine natural numbers.  What is the probability that 4 is the larger of those chosen?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


A deck has 3 cards:  1 which is red on both sides, 1 which is blue on both sides, and 1 which is red on one side and blue on the other.  A card from this deck is placed on a table in front of you with a red side showing.  What is the probability that the other side of the card is also red?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


A certain math competition pits two teams against one another in a series of rounds until one of the teams has beaten the other in three of the rounds.  If both teams have an equal chance of winning a given round, what is the probability the competition will be won at the end of the fourth round?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


How many distinct orders are possible for 8 people seated around a table?��(A) 5040	(B)  2520	(C)  40320	(D)  20160	(E)  NOTA


A bag contains 8 white marbles and three green ones.  What is the probability that when two are drawn simultaneously, they are both green?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


In a class of 87 students, 23 take history, 63 take math, and 12 take neither.  How many students take both?��(A)  9	(B)  10	(C)  12	(D)  11	(E)  NOTA


Two dice are rolled.  What is the expected value of the higher of the two?��(A) � EMBED Equation.2  ���	(B)  3	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


How many students take math and science, but not history, if, in a school with 102 students, 58 students take math, 54 students take science, 24 take history, 33 take both science and math, 9 take history and science, and 6 take all three?��(A)  30	(B)  33	(C)  27	(D)  cannot be	(E)  NOTA�			        determined


Tom’s system administrator insists that his computer password be 4 characters long and contain exactly 2 numbers and 2 letters, but that no character appear more than once in the password.  How many such passwords are possible?��(A)  1404000	(B)  702000	(C)  234000	(D)  58500	(E)  NOTA


Two dice are rolled.  What is the probability that the sum of their results is a prime number?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Bill and Dan are in a race with 7 other competitors.  What is the probability neither of them will finish in the top 3?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA
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